
Copyright  ABN 99 124 177 297

N.B: It is recommended that a licenced workshop or tradesperson carry out the above procedure 
and that workshop manual and relevant safety procedures are followed in addition to the above. 

Z5920

                                                                     
Instructions

Rear Brake Hose - Relocation  
 

                                                      

Application - Isuzu D-max
                     - Holden Colorado      
                    

Contents - Steel bracket x1
                 - M8 bolt x2
                 - M8 nut x2
                 - M8 washer x2 
                  
                     
                  

Always refer complete catalogue listing

N.B: This instruction sheet should be used in conjunction with the workshop manual and proper safety procedures followed.

.

• Raise vehicle evenly and safely support.

Never rely on a Jack only.

• Using a screw-driver, push the steel clip
off the brake line - refer image.

• Now pull steel brake line ‘down’ approx 30mm

• Bolt up new bracket with supplied M8 hardware as per 
image below.  

Remove steel clip 
from here.

Re-issue clip to 
new bracket
here. 

Bolt up new bracket 
with 2x M8 nuts and 
bolts.


	Page 1

